1" SWIR Lens / 1 8B H1&=SWIREL

VS-H1-SWIR Series [HIES
T BN E B ESWIREL EANRG

o LANIR/SWIR igit 5;25 4”-526

o BRGEBITE )

° STFEF1HENL

* 700nm-2000nmAT=IRET= ER AN

C-mount

2-M2 Lock screw

VS-0814H1-SWIR FHMRESR VS-1214H1-SWIR VS-1614H1N-SWIR

59 17.526 48 17.526,
4 4 45 17.526
3 4

4.9

0.

0.75

$57
M55 P:

7 o u

|

T

1

|
¢23
38

dIms | vl

$22.8
¢31.5
M35. 5 P:

|

I

|

I

4982 2 ¥l

50 (0 |

2-M2 Lock screw G-mount

33.5 17.526, 35.0 17. 526,

0.5

0,

0,

T

|
$23
b44

|
|
i
I
|
®23
¢ 38
343
M40.5 P:
|
1

¢33
M30. 5 P:
¢33
M30. 5 P:
|
1

I-7187 ¢ ¥l
7

ug- v 87
£

|

C-mount 2-M2 Lock screw G-mount

2-M2 Lock screw 2-M2 Lock screw

I sExiEsE BZEZ, f700nmE2000nm
100%
80% [ S~ — —
60%
%
i 40%
20%
0%
700 900 1100 1300 1500 1700 1900
B (nm)
VS-0618H1-SWIR VS-0814H1-SWIR VS-1214H1-SWIR VS-1614H1N-SWIR VS-2514H1-SWIR VS-3514H1-SWIR VS-5018H1-SWIR
j-Fii5) 6 mm 8 mm 12mm 16 mm 25 mm 35 mm 50 mm
FNO F1.8~ 16 F1.4~ 16 F1.4~16 F1.4~16 F1.4~16 F1.4~16 F1.8~16
E=2) 87.3° x 87.3° 71.8° x 71.8° 50.8° x 50.8° 38.6° x 38.6° 25.1° x 25.1° 18.3°x 18.3° 12.8° x 12.8°
ZEIREWD 100 mm 100 mm 300 mm 300 mm 300 mm 300 mm 500 mm
TVEE -0.61 % -0.54 % -0.32 % -0.65 % -0.46 % -0.31 % -0.01 %
BIESE Manual (LockscrewM2)  Manual (Lock screw M2) Manual (LockscrewM2)  Manual (LockscrewM2)  Manual (Lock screw M2) Manual (LockscrewM2)  Manual (Lock screw M2)
Pi%S SHAL] RS Shra]) [Ei-aAr)y fEiraL]y R jEiar)
EaAGH 1 1" 1 1 1 1 1
BEOR - M55 P=0.75 M355 P=05 M30.5 P=05 M305 P=0.5 M305 P=0.5 M405 P=0.5
F8 205 g 1759 130 g 120 g 84g 92¢g 128 g

13





